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Change 1

	Reason for change
	As per the 3GPP spec 44.018 clause 9.1.34a, the contents of SI2quater message should be less than 23 bytes. 

In the current configuration, the size of 1st instance of SI2quater is 24 bytes and exceeds the size limits of 23 bytes. So, LTE neighbouring cell information should be adjusted in 1 or 2 instances depending upon the neighbouring cell information which is Band specific and to make all the SI2quater instances within the size limits. 

	Summary of change
	LTE neighbouring cell information is transmitted in 1 or 2 instances of SI2quater message considering the size constraint of SI2quater message and depending upon the Band tested.

	Source of change
	GERAN_CellInfo.ttcn


Before change:

	  type record GERAN_SystemInformation_Type {    /* @status    APPROVED */

    SYSTEMINFORMATIONTYPE1  si1,

    SYSTEMINFORMATIONTYPE2  si2,

    SYSTEMINFORMATIONTYPE2bis  si2bis optional,

    SYSTEMINFORMATIONTYPE2quater  si2quater_1,

    SYSTEMINFORMATIONTYPE2quater  si2quater_2  optional, // only need 2nd instance if UTRAN present too

    SYSTEMINFORMATIONTYPE2quater  si2quater_3  optional, // only need 3rd instance if UTRAN present too @sic R5s120021 sic@

    SYSTEMINFORMATIONTYPE3  si3,

    SYSTEMINFORMATIONTYPE4  si4,

    SYSTEMINFORMATIONTYPE5  si5,

    SYSTEMINFORMATIONTYPE5bis  si5bis,

    SYSTEMINFORMATIONTYPE6  si6,

    SYSTEMINFORMATIONTYPE13  si13,

    SYSTEMINFORMATIONTYPE15  si15 optional //Only for 710 and 810

  };

…

…

  function f_GERAN_SystemInformation_Init ( GERAN_CellArray_Type p_CellArray,

                                            IRAT_CoOrd_SysInfo_List_Type p_SysInfoList) return GERAN_CellArray_Type

  {

    var CoOrd_EUTRASysInfo_List_Type v_EUTRA_SysInfo;

    var CoOrd_UTRANSysInfo_List_Type v_UTRAN_SysInfo;

    var GERAN_CellArray_Type v_CellArray := p_CellArray;

    var template (value) GERAN_SystemInformation_Type v_SysInfo;

    var template (value) LocAreaId v_LAI;

    var template (value) EUTRANMeasParams_SI2 v_EUTRA_SI2;
    var integer v_Index := 0;

    var integer v_NoOfPTCs := lengthof (p_SysInfoList);

    select (v_NoOfPTCs) {

      case (1) {

        v_EUTRA_SysInfo := p_SysInfoList[0].Eutra;

      }

      case (2) {

        if (ischosen(p_SysInfoList[0].Eutra)) {

          v_EUTRA_SysInfo := p_SysInfoList[0].Eutra;

          v_UTRAN_SysInfo := p_SysInfoList[1].Utran;

        }

        else {

          v_UTRAN_SysInfo := p_SysInfoList[0].Utran;

          v_EUTRA_SysInfo := p_SysInfoList[1].Eutra;

        }

      }

      case else {

        FatalError (__FILE__, __LINE__, "wrong PTC configuration specified in test case");

      }

    }

    for (v_Index := 0; v_Index < tsc_GERAN_NumberOfCells; v_Index := v_Index + 1)

      {

        v_LAI := cs_LAI (omit, v_CellArray[v_Index].info.plmn, v_CellArray[v_Index].info.lac);

        v_SysInfo.si1 := cs_SysInfoType1(v_CellArray[v_Index].freq.cellAllocation, v_CellArray[v_Index].info.rachCtrlParams, v_CellArray[v_Index].freq.bandIndicator);

        v_SysInfo.si2 := cs_SysInfoType2(v_CellArray[v_Index].freq.neighBCCHFreqList, v_CellArray[v_Index].info.nccPermitted, v_CellArray[v_Index].info.rachCtrlParams);

        v_SysInfo.si2bis := cs_SysInfoType2bis(v_CellArray[v_Index].freq.extNeighBCCHFreqList, v_CellArray[v_Index].info.rachCtrlParams);

        v_SysInfo.si3 := cs_SysInfoType3(v_CellArray[v_Index].info.cellIdentity,

                                         v_LAI,

                                         v_CellArray[v_Index].info.controlChDesr,

                                         cs_CellOptionBCCH( v_CellArray[v_Index].info.dN_Ind, v_CellArray[v_Index].info.dTX,  v_CellArray[v_Index].info.radioLinkTimeout),

                                         v_CellArray[v_Index].info.cellSelParams, v_CellArray[v_Index].info.rachCtrlParams,

                                         cds_SI3_RO_GPRS_SI2quater);

        v_SysInfo.si4 := cs_SysInfoType4(v_LAI, v_CellArray[v_Index].info.cellSelParams, v_CellArray[v_Index].info.rachCtrlParams, cds_SI4_RO_GPRS);

        v_SysInfo.si5 := cs_SysInfoType5(v_CellArray[v_Index].freq.neighBCCHFreqList);

        v_SysInfo.si5bis := cs_SysInfoType5bis(v_CellArray[v_Index].freq.extNeighBCCHFreqList);

        v_SysInfo.si6 := cs_SysInfoType6(v_CellArray[v_Index].info.cellIdentity,

                                         v_LAI,

                                         cs_CellOptionSACCH( v_CellArray[v_Index].info.dtx8, v_CellArray[v_Index].info.dtx65, v_CellArray[v_Index].info.radioLinkTimeout),

                                         v_CellArray[v_Index].info.nccPermitted,

                                         cs_SI6_RO_Spare(v_CellArray[v_Index].freq.bandIndicator));

        v_SysInfo.si13 := cs_SysInfoType13(cs_SI13_RO_GPRS(v_CellArray[v_Index].info.rac, v_CellArray[v_Index].info.nmo));

        v_SysInfo.si15 := cs_SysInfoType15(cs_SI15_RO('0110'B));  // value for GSM 700.  This will be changed according to the band under test when sent, if required

        if (lengthof(v_EUTRA_SysInfo)==4) {

          v_EUTRA_SI2 := cs_EUTRAN_MeasParams_SI2 (cs_RptdEARFCNNeighCells (cs_RptdEARFCNList4(int2bit(v_EUTRA_SysInfo[0].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[0].DL_Bandwidth), // @sic GP-120009 sic@

                                                                                               int2bit(v_EUTRA_SysInfo[1].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[1].DL_Bandwidth), // @sic GP-120009 sic@

                                                                                               int2bit(v_EUTRA_SysInfo[2].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[2].DL_Bandwidth), // @sic GP-120009 sic@

                                                                                               int2bit(v_EUTRA_SysInfo[3].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[3].DL_Bandwidth)))); // @sic GP-120009 sic@

        } else {

          v_EUTRA_SI2 := cs_EUTRAN_MeasParams_SI2 (cs_RptdEARFCNNeighCells (cs_RptdEARFCNList5(int2bit(v_EUTRA_SysInfo[0].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[0].DL_Bandwidth), // @sic GP-120009 sic@

                                                                                               int2bit(v_EUTRA_SysInfo[1].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[1].DL_Bandwidth), // @sic GP-120009 sic@

                                                                                               int2bit(v_EUTRA_SysInfo[2].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[2].DL_Bandwidth), // @sic GP-120009 sic@

                                                                                               int2bit(v_EUTRA_SysInfo[3].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[3].DL_Bandwidth), // @sic GP-120009 sic@

                                                                                               int2bit(v_EUTRA_SysInfo[4].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[4].DL_Bandwidth)))); // @sic GP-120009 sic@

        }

        if (v_NoOfPTCs == 2) {

          if (ischosen(v_UTRAN_SysInfo[0].FDD)) {

            v_SysInfo.si2quater_1 := cs_SysInfoType2quater(cs_SI2quaterRO('0000'B,

                                                                          '0010'B, // @sic R5s120021 sic@

                                                                          '0'B, // @sic GP-120371 sic@

                                                                          '1'B,

                                                                          cs_SI2quater_3G_3N_2FCell_FDD(int2bit(v_UTRAN_SysInfo[0].FDD.Freq, 14),  // @sic R5120021 sic@

                                                                                                        int2bit(v_UTRAN_SysInfo[2].FDD.Freq, 14),

                                                                                                        int2bit( v_UTRAN_SysInfo[2].FDD.ScramblingCode, 9) & '0'B),

                                                                          '0'B, omit,

                                                                          '0'B, omit,

                                                                          omit, '0'B ));   // @sic R5s120021 sic@ Can't fit everything in one instance, so have to split it up

            v_SysInfo.si2quater_2 := cs_SysInfoType2quater(cs_SI2quaterRO('0001'B,

                                                                          '0010'B, // @sic R5s120021 sic@

                                                                          '0'B, // @sic GP-120371 sic@

                                                                          '1'B,

                                                                          cs_SI2quater_3G_1N_1FCell_FDD(int2bit(v_UTRAN_SysInfo[3].FDD.Freq, 14),  // @sic R5120021 sic@

                                                                                                        int2bit( v_UTRAN_SysInfo[3].FDD.ScramblingCode, 9) & '0'B),

                                                                          '1'B, cs_SI2quaterMeasParams3G_ISHO, // @sic R5s12082 sic@

                                                                          '0'B, omit,

                                                                          omit, '0'B ));   // @sic R5s120021 sic@ Can't fit everything in one instance, so have to split it up

            v_SysInfo.si2quater_3 := cs_SysInfoType2quater(cs_SI2quaterRO('0010'B,

                                                                          '0010'B, // @sic R5s120021 sic@

                                                                          '0'B, // @sic GP-120371 sic@

                                                                          '0'B, omit,

                                                                          '0'B, omit, // @sic R5s12082 sic@

                                                                          '0'B, omit,

                                                                          v_EUTRA_SI2));

          } else { //TDD

            v_SysInfo.si2quater_1 := cs_SysInfoType2quater(cs_SI2quaterRO('0000'B,

                                                                          '0010'B, // @sic R5s120021 sic@

                                                                          '0'B, // @sic GP-120371 sic@

                                                                          '1'B,

                                                                          cs_SI2quater_3G_3N_2FCell_TDD(int2bit(v_UTRAN_SysInfo[0].TDD.Freq, 14),  // @sic R5120021 sic@

                                                                                                        int2bit(v_UTRAN_SysInfo[2].TDD.Freq, 14),

                                                                                                        int2bit( v_UTRAN_SysInfo[2].TDD.CellParametersID, 7)& v_UTRAN_SysInfo[1].TDD.Tstd& v_UTRAN_SysInfo[1].TDD.Diversity),

                                                                          '0'B, omit,

                                                                          '0'B, omit,

                                                                          omit, '0'B ));   // @sic R5s120021 sic@ Can't fit everything in one instance, so have to split it up

            v_SysInfo.si2quater_2 := cs_SysInfoType2quater(cs_SI2quaterRO('0001'B,

                                                                          '0010'B, // @sic R5s120021 sic@

                                                                          '0'B, // @sic GP-120371 sic@

                                                                          '1'B,

                                                                          cs_SI2quater_3G_1N_1FCell_TDD(int2bit(v_UTRAN_SysInfo[3].TDD.Freq, 14),  // @sic R5120021 sic@

                                                                                                        int2bit( v_UTRAN_SysInfo[3].TDD.CellParametersID, 7)& v_UTRAN_SysInfo[1].TDD.Tstd& v_UTRAN_SysInfo[1].TDD.Diversity),

                                                                          '0'B, omit,

                                                                          '0'B, omit,

                                                                          omit, '0'B ));   // @sic R5s120021 sic@ Can't fit everything in one instance, so have to split it up

            v_SysInfo.si2quater_3 := cs_SysInfoType2quater(cs_SI2quaterRO('0010'B,

                                                                          '0010'B, // @sic R5s120021 sic@

                                                                          '0'B, // @sic GP-120371 sic@

                                                                          '0'B, omit,

                                                                          '1'B, cs_SI2quaterMeasParams3G_ISHO,

                                                                          '0'B, omit,

                                                                          v_EUTRA_SI2));

          }

        } else { // No UTRAN

          v_SysInfo.si2quater_1 := cs_SysInfoType2quater(cs_SI2quaterRO('0000'B, '0000'B, '0'B, '0'B, omit, // @sic GP-120371 sic@

                                                                        '0'B, omit,

                                                                        '0'B, omit,

                                                                        v_EUTRA_SI2));

          v_SysInfo.si2quater_2 := omit;  // so everything can fit in one instance

          v_SysInfo.si2quater_3 := omit;  // so everything can fit in one instance @sic R5s120021 sic@

        }

        v_CellArray[v_Index].sysInfo := valueof(v_SysInfo);

      }

    return v_CellArray;

  }


After change:

	  type record GERAN_SystemInformation_Type {    /* @status    APPROVED */

    SYSTEMINFORMATIONTYPE1  si1,

    SYSTEMINFORMATIONTYPE2  si2,

    SYSTEMINFORMATIONTYPE2bis  si2bis optional,

    SYSTEMINFORMATIONTYPE2quater  si2quater_1,

    SYSTEMINFORMATIONTYPE2quater  si2quater_2  optional, // only need 2nd instance if UTRAN present too

    SYSTEMINFORMATIONTYPE2quater  si2quater_3  optional, // only need 3rd instance if UTRAN present too @sic R5s120021 sic@

    SYSTEMINFORMATIONTYPE2quater  si2quater_4  optional, // only need 4th instance if UTRAN present too @sic R5s120021 sic@
    SYSTEMINFORMATIONTYPE3  si3,

    SYSTEMINFORMATIONTYPE4  si4,

    SYSTEMINFORMATIONTYPE5  si5,

    SYSTEMINFORMATIONTYPE5bis  si5bis,

    SYSTEMINFORMATIONTYPE6  si6,

    SYSTEMINFORMATIONTYPE13  si13,

    SYSTEMINFORMATIONTYPE15  si15 optional //Only for 710 and 810

  };

…

…

  function f_GERAN_SystemInformation_Init ( GERAN_CellArray_Type p_CellArray,

                                            IRAT_CoOrd_SysInfo_List_Type p_SysInfoList) return GERAN_CellArray_Type

  {

    var CoOrd_EUTRASysInfo_List_Type v_EUTRA_SysInfo;

    var CoOrd_UTRANSysInfo_List_Type v_UTRAN_SysInfo;

    var GERAN_CellArray_Type v_CellArray := p_CellArray;

    var template (value) GERAN_SystemInformation_Type v_SysInfo;

    var template (value) LocAreaId v_LAI;

    var template (value) EUTRANMeasParams_SI2 v_EUTRA_SI2_1, v_EUTRA_SI2_2;
    var integer v_Index := 0;

    var integer v_NoOfPTCs := lengthof (p_SysInfoList);

    select (v_NoOfPTCs) {

      case (1) {

        v_EUTRA_SysInfo := p_SysInfoList[0].Eutra;

      }

      case (2) {

        if (ischosen(p_SysInfoList[0].Eutra)) {

          v_EUTRA_SysInfo := p_SysInfoList[0].Eutra;

          v_UTRAN_SysInfo := p_SysInfoList[1].Utran;

        }

        else {

          v_UTRAN_SysInfo := p_SysInfoList[0].Utran;

          v_EUTRA_SysInfo := p_SysInfoList[1].Eutra;

        }

      }

      case else {

        FatalError (__FILE__, __LINE__, "wrong PTC configuration specified in test case");

      }

    }

    for (v_Index := 0; v_Index < tsc_GERAN_NumberOfCells; v_Index := v_Index + 1)

      {

        v_LAI := cs_LAI (omit, v_CellArray[v_Index].info.plmn, v_CellArray[v_Index].info.lac);

        v_SysInfo.si1 := cs_SysInfoType1(v_CellArray[v_Index].freq.cellAllocation, v_CellArray[v_Index].info.rachCtrlParams, v_CellArray[v_Index].freq.bandIndicator);

        v_SysInfo.si2 := cs_SysInfoType2(v_CellArray[v_Index].freq.neighBCCHFreqList, v_CellArray[v_Index].info.nccPermitted, v_CellArray[v_Index].info.rachCtrlParams);

        v_SysInfo.si2bis := cs_SysInfoType2bis(v_CellArray[v_Index].freq.extNeighBCCHFreqList, v_CellArray[v_Index].info.rachCtrlParams);

        v_SysInfo.si3 := cs_SysInfoType3(v_CellArray[v_Index].info.cellIdentity,

                                         v_LAI,

                                         v_CellArray[v_Index].info.controlChDesr,

                                         cs_CellOptionBCCH( v_CellArray[v_Index].info.dN_Ind, v_CellArray[v_Index].info.dTX,  v_CellArray[v_Index].info.radioLinkTimeout),

                                         v_CellArray[v_Index].info.cellSelParams, v_CellArray[v_Index].info.rachCtrlParams,

                                         cds_SI3_RO_GPRS_SI2quater);

        v_SysInfo.si4 := cs_SysInfoType4(v_LAI, v_CellArray[v_Index].info.cellSelParams, v_CellArray[v_Index].info.rachCtrlParams, cds_SI4_RO_GPRS);

        v_SysInfo.si5 := cs_SysInfoType5(v_CellArray[v_Index].freq.neighBCCHFreqList);

        v_SysInfo.si5bis := cs_SysInfoType5bis(v_CellArray[v_Index].freq.extNeighBCCHFreqList);

        v_SysInfo.si6 := cs_SysInfoType6(v_CellArray[v_Index].info.cellIdentity,

                                         v_LAI,

                                         cs_CellOptionSACCH( v_CellArray[v_Index].info.dtx8, v_CellArray[v_Index].info.dtx65, v_CellArray[v_Index].info.radioLinkTimeout),

                                         v_CellArray[v_Index].info.nccPermitted,

                                         cs_SI6_RO_Spare(v_CellArray[v_Index].freq.bandIndicator));

        v_SysInfo.si13 := cs_SysInfoType13(cs_SI13_RO_GPRS(v_CellArray[v_Index].info.rac, v_CellArray[v_Index].info.nmo));

        v_SysInfo.si15 := cs_SysInfoType15(cs_SI15_RO('0110'B));  // value for GSM 700.  This will be changed according to the band under test when sent, if required

  //SI2quater implementation based on the different combinations end   

        if (lengthof(v_EUTRA_SysInfo)==1) {

        v_EUTRA_SI2_1 := cs_EUTRAN_MeasParams_SI2 (cs_RptdEARFCNNeighCells (cs_RptdEARFCNList1(int2bit(v_EUTRA_SysInfo[0].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[0].DL_Bandwidth) // @sic GP-120009 sic@

                                                                                               )));         

        } else if (lengthof(v_EUTRA_SysInfo)==2) {

        v_EUTRA_SI2_1 := cs_EUTRAN_MeasParams_SI2 (cs_RptdEARFCNNeighCells (cs_RptdEARFCNList2(int2bit(v_EUTRA_SysInfo[0].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[0].DL_Bandwidth), // @sic GP-120009 sic@

                                                                                               int2bit(v_EUTRA_SysInfo[1].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[1].DL_Bandwidth) // @sic GP-120009 sic@

                                                                                               )));         

        } else if (lengthof(v_EUTRA_SysInfo)==3) {

        v_EUTRA_SI2_1 := cs_EUTRAN_MeasParams_SI2 (cs_RptdEARFCNNeighCells (cs_RptdEARFCNList3(int2bit(v_EUTRA_SysInfo[0].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[0].DL_Bandwidth), // @sic GP-120009 sic@

                                                                                               int2bit(v_EUTRA_SysInfo[1].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[1].DL_Bandwidth), // @sic GP-120009 sic@

                                                                                               int2bit(v_EUTRA_SysInfo[2].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[2].DL_Bandwidth) // @sic GP-120009 sic@

                                                                                               )));         

        } else if (lengthof(v_EUTRA_SysInfo)==4){

        v_EUTRA_SI2_1 := cs_EUTRAN_MeasParams_SI2 (cs_RptdEARFCNNeighCells (cs_RptdEARFCNList1and2and3(int2bit(v_EUTRA_SysInfo[0].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[0].DL_Bandwidth), // @sic GP-120009 sic@

                                                                                               int2bit(v_EUTRA_SysInfo[1].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[1].DL_Bandwidth), // @sic GP-120009 sic@

                                                                                               int2bit(v_EUTRA_SysInfo[2].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[2].DL_Bandwidth) // @sic GP-120009 sic@

                                                                                               ))); // @sic GP-120009 sic@

        v_EUTRA_SI2_2 := cs_EUTRAN_MeasParams_SI2 (cs_RptdEARFCNNeighCells (cs_RptdEARFCNList1(int2bit(v_EUTRA_SysInfo[3].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[3].DL_Bandwidth) // @sic GP-120009 sic@

                                                                                               ))); // @sic GP-120009 sic@

        } //@Anite

        /*else {

        v_EUTRA_SI2_1 := cs_EUTRAN_MeasParams_SI2 (cs_RptdEARFCNNeighCells (cs_RptdEARFCNList1and2and3(int2bit(v_EUTRA_SysInfo[0].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[0].DL_Bandwidth), // @sic GP-120009 sic@

                                                                                               int2bit(v_EUTRA_SysInfo[1].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[1].DL_Bandwidth), // @sic GP-120009 sic@

                                                                                               int2bit(v_EUTRA_SysInfo[2].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[2].DL_Bandwidth) // @sic GP-120009 sic@

                                                                                               ))); // @sic GP-120009 sic@

        v_EUTRA_SI2_2 := cs_EUTRAN_MeasParams_SI2 (cs_RptdEARFCNNeighCells (cs_RptdEARFCNList2(int2bit(v_EUTRA_SysInfo[3].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[3].DL_Bandwidth), // @sic GP-120009 sic@

                                                                                               int2bit(v_EUTRA_SysInfo[4].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[4].DL_Bandwidth) // @sic GP-120009 sic@

                                                                                               ))); // @sic GP-120009 sic@

        }*/

        if (v_NoOfPTCs == 2) {

          if (ischosen(v_UTRAN_SysInfo[0].FDD)) {

            if (lengthof(v_EUTRA_SysInfo)==4) { //@Anite

            v_SysInfo.si2quater_1 := cs_SysInfoType2quater(cs_SI2quaterRO('0000'B,

                                                                          '0011'B, // @sic R5s120021 sic@

                                                                          '0'B, // @sic GP-120371 sic@

                                                                          '1'B,

                                                                          cs_SI2quater_3G_3N_2FCell_FDD(int2bit(v_UTRAN_SysInfo[0].FDD.Freq, 14),  // @sic R5120021 sic@

                                                                                                        int2bit(v_UTRAN_SysInfo[2].FDD.Freq, 14),

                                                                                                        int2bit( v_UTRAN_SysInfo[2].FDD.ScramblingCode, 9) & '0'B),

                                                                          '0'B, omit,

                                                                          '0'B, omit,

                                                                          omit, '0'B ));   // @sic R5s120021 sic@ Can't fit everything in one instance, so have to split it up

            v_SysInfo.si2quater_2 := cs_SysInfoType2quater(cs_SI2quaterRO('0001'B,

                                                                          '0011'B, // @sic R5s120021 sic@

                                                                          '0'B, // @sic GP-120371 sic@

                                                                          '1'B,

                                                                          cs_SI2quater_3G_1N_1FCell_FDD(int2bit(v_UTRAN_SysInfo[3].FDD.Freq, 14),  // @sic R5120021 sic@

                                                                                                        int2bit( v_UTRAN_SysInfo[3].FDD.ScramblingCode, 9) & '0'B),

                                                                          '1'B, cs_SI2quaterMeasParams3G_ISHO, // @sic R5s12082 sic@

                                                                          '0'B, omit,

                                                                          omit, '0'B ));   // @sic R5s120021 sic@ Can't fit everything in one instance, so have to split it up

            v_SysInfo.si2quater_3 := cs_SysInfoType2quater(cs_SI2quaterRO('0010'B,

                                                                          '0011'B, // @sic R5s120021 sic@

                                                                          '0'B, // @sic GP-120371 sic@

                                                                          '0'B, omit,

                                                                          '0'B, omit, // @sic R5s12082 sic@

                                                                          '0'B, omit,

                                                                          v_EUTRA_SI2_1));

              v_SysInfo.si2quater_4 := cs_SysInfoType2quater(cs_SI2quaterRO('0011'B,

                                                                          '0011'B, // @sic R5s120021 sic@

                                                                          '0'B, // @sic GP-120371 sic@

                                                                          '0'B, omit,

                                                                          '0'B, omit, // @sic R5s12082 sic@

                                                                          '0'B, omit,

                                                                          v_EUTRA_SI2_2));

            } else {

             v_SysInfo.si2quater_1 := cs_SysInfoType2quater(cs_SI2quaterRO('0000'B,

                                                                          '0010'B, // @sic R5s120021 sic@

                                                                          '0'B, // @sic GP-120371 sic@

                                                                          '1'B,

                                                                          cs_SI2quater_3G_3N_2FCell_FDD(int2bit(v_UTRAN_SysInfo[0].FDD.Freq, 14),  // @sic R5120021 sic@

                                                                                                        int2bit(v_UTRAN_SysInfo[2].FDD.Freq, 14),

                                                                                                        int2bit( v_UTRAN_SysInfo[2].FDD.ScramblingCode, 9) & '0'B),

                                                                          '0'B, omit,

                                                                          '0'B, omit,

                                                                          omit, '0'B ));   // @sic R5s120021 sic@ Can't fit everything in one instance, so have to split it up

            v_SysInfo.si2quater_2 := cs_SysInfoType2quater(cs_SI2quaterRO('0001'B,

                                                                          '0010'B, // @sic R5s120021 sic@

                                                                          '0'B, // @sic GP-120371 sic@

                                                                          '1'B,

                                                                          cs_SI2quater_3G_1N_1FCell_FDD(int2bit(v_UTRAN_SysInfo[3].FDD.Freq, 14),  // @sic R5120021 sic@

                                                                                                        int2bit( v_UTRAN_SysInfo[3].FDD.ScramblingCode, 9) & '0'B),

                                                                          '1'B, cs_SI2quaterMeasParams3G_ISHO, // @sic R5s12082 sic@

                                                                          '0'B, omit,

                                                                          omit, '0'B ));   // @sic R5s120021 sic@ Can't fit everything in one instance, so have to split it up

            v_SysInfo.si2quater_3 := cs_SysInfoType2quater(cs_SI2quaterRO('0010'B,

                                                                          '0010'B, // @sic R5s120021 sic@

                                                                          '0'B, // @sic GP-120371 sic@

                                                                          '0'B, omit,

                                                                          '0'B, omit, // @sic R5s12082 sic@

                                                                          '0'B, omit,

                                                                          v_EUTRA_SI2_1));

            v_SysInfo.si2quater_4 := omit;

            }

          } else { //TDD

            if (lengthof(v_EUTRA_SysInfo)>=4) {

            v_SysInfo.si2quater_1 := cs_SysInfoType2quater(cs_SI2quaterRO('0000'B,

                                                                          '0011'B, // @sic R5s120021 sic@

                                                                          '0'B, // @sic GP-120371 sic@

                                                                          '1'B,

                                                                          cs_SI2quater_3G_3N_2FCell_TDD(int2bit(v_UTRAN_SysInfo[0].TDD.Freq, 14),  // @sic R5120021 sic@

                                                                                                        int2bit(v_UTRAN_SysInfo[2].TDD.Freq, 14),

                                                                                                        int2bit( v_UTRAN_SysInfo[2].TDD.CellParametersID, 7)& v_UTRAN_SysInfo[1].TDD.Tstd& v_UTRAN_SysInfo[1].TDD.Diversity),

                                                                          '0'B, omit,

                                                                          '0'B, omit,

                                                                          omit, '0'B ));   // @sic R5s120021 sic@ Can't fit everything in one instance, so have to split it up

            v_SysInfo.si2quater_2 := cs_SysInfoType2quater(cs_SI2quaterRO('0001'B,

                                                                          '0011'B, // @sic R5s120021 sic@

                                                                          '0'B, // @sic GP-120371 sic@

                                                                          '1'B,

                                                                          cs_SI2quater_3G_1N_1FCell_TDD(int2bit(v_UTRAN_SysInfo[3].TDD.Freq, 14),  // @sic R5120021 sic@

                                                                                                        int2bit( v_UTRAN_SysInfo[3].TDD.CellParametersID, 7)& v_UTRAN_SysInfo[1].TDD.Tstd& v_UTRAN_SysInfo[1].TDD.Diversity),

                                                                          '1'B, cs_SI2quaterMeasParams3G_ISHO,

                                                                          '0'B, omit,

                                                                          omit, '0'B ));   // @sic R5s120021 sic@ Can't fit everything in one instance, so have to split it up

            v_SysInfo.si2quater_3 := cs_SysInfoType2quater(cs_SI2quaterRO('0010'B,

                                                                          '0011'B, // @sic R5s120021 sic@

                                                                          '0'B, // @sic GP-120371 sic@

                                                                          '0'B, omit,

                                                                          '0'B, omit,

                                                                          '0'B, omit,

                                                                          v_EUTRA_SI2_1));

            v_SysInfo.si2quater_4 := cs_SysInfoType2quater(cs_SI2quaterRO('0011'B,

                                                                          '0011'B, // @sic R5s120021 sic@

                                                                          '0'B, // @sic GP-120371 sic@

                                                                          '0'B, omit,

                                                                          '0'B, omit,

                                                                          '0'B, omit,

                                                                          v_EUTRA_SI2_2));

            } else {

            v_SysInfo.si2quater_1 := cs_SysInfoType2quater(cs_SI2quaterRO('0000'B,

                                                                          '0010'B, // @sic R5s120021 sic@

                                                                          '0'B, // @sic GP-120371 sic@

                                                                          '1'B,

                                                                          cs_SI2quater_3G_3N_2FCell_TDD(int2bit(v_UTRAN_SysInfo[0].TDD.Freq, 14),  // @sic R5120021 sic@

                                                                                                        int2bit(v_UTRAN_SysInfo[2].TDD.Freq, 14),

                                                                                                        int2bit( v_UTRAN_SysInfo[2].TDD.CellParametersID, 7)& v_UTRAN_SysInfo[1].TDD.Tstd& v_UTRAN_SysInfo[1].TDD.Diversity),

                                                                          '0'B, omit,

                                                                          '0'B, omit,

                                                                          omit, '0'B ));   // @sic R5s120021 sic@ Can't fit everything in one instance, so have to split it up

            v_SysInfo.si2quater_2 := cs_SysInfoType2quater(cs_SI2quaterRO('0001'B,

                                                                          '0010'B, // @sic R5s120021 sic@

                                                                          '0'B, // @sic GP-120371 sic@

                                                                          '1'B,

                                                                          cs_SI2quater_3G_1N_1FCell_TDD(int2bit(v_UTRAN_SysInfo[3].TDD.Freq, 14),  // @sic R5120021 sic@

                                                                                                        int2bit( v_UTRAN_SysInfo[3].TDD.CellParametersID, 7)& v_UTRAN_SysInfo[1].TDD.Tstd& v_UTRAN_SysInfo[1].TDD.Diversity),

                                                                          '1'B, cs_SI2quaterMeasParams3G_ISHO,

                                                                          '0'B, omit,

                                                                          omit, '0'B ));   // @sic R5s120021 sic@ Can't fit everything in one instance, so have to split it up

            v_SysInfo.si2quater_3 := cs_SysInfoType2quater(cs_SI2quaterRO('0010'B,

                                                                          '0010'B, // @sic R5s120021 sic@

                                                                          '0'B, // @sic GP-120371 sic@

                                                                          '0'B, omit,

                                                                          '0'B, omit,

                                                                          '0'B, omit,

                                                                          v_EUTRA_SI2_1));

             v_SysInfo.si2quater_4 := omit;

            }

          }

        }

      else { // No UTRAN

          if (lengthof(v_EUTRA_SysInfo)==4) { //@Anite

          v_SysInfo.si2quater_1 := cs_SysInfoType2quater(cs_SI2quaterRO('0000'B, '0001'B, '0'B, '0'B, omit, // @sic GP-120371 sic@

                                                                        '0'B, omit,

                                                                        '0'B, omit,

                                                                        v_EUTRA_SI2_1));

          v_SysInfo.si2quater_2 := cs_SysInfoType2quater(cs_SI2quaterRO('0001'B, '0001'B, '0'B, '0'B, omit, // @sic GP-120371 sic@

                                                                        '0'B, omit,

                                                                        '0'B, omit,

                                                                        v_EUTRA_SI2_2));  // so everything can fit in one instance

          v_SysInfo.si2quater_3 := omit;  // so everything can fit in one instance @sic R5s120021 sic@

          v_SysInfo.si2quater_4 := omit; 

            } else {

          v_SysInfo.si2quater_1 := cs_SysInfoType2quater(cs_SI2quaterRO('0000'B, '0000'B, '0'B, '0'B, omit, // @sic GP-120371 sic@

                                                                        '0'B, omit,

                                                                        '0'B, omit,

                                                                        v_EUTRA_SI2_1));

          v_SysInfo.si2quater_2 := omit;

          v_SysInfo.si2quater_3 := omit;  // so everything can fit in one instance @sic R5s120021 sic@

          v_SysInfo.si2quater_4 := omit;

              }

        }

        v_CellArray[v_Index].sysInfo := valueof(v_SysInfo);

      }

    return v_CellArray;

  }

  //SI2quater implementation based on the different combinations end


Change 2

	Reason for change
	As per the 3GPP spec 44.018 clause 9.1.34a, the contents of SI2quater message should be less than 23 bytes so SI2quater message needs to be split into multiple instances as EUTRA neighbouring cell information cannot be completely transmitted in a single instance of SI2quater for some Bands, so new templates are added to split the SI2quater information.

	Summary of change
	New templates are added

	Source of change
	GERAN_Templates.ttcn


After change:

	  template (value) RptdEARFCN_BW cs_RptdEARFCNList1and2and3 (B16_Type p_ARFCN1,

                                                     template (omit) B3_Type p_BW1, // @sic GP-120009 sic@

                                                     B16_Type p_ARFCN2,

                                                     template (omit) B3_Type p_BW2, // @sic GP-120009 sic@

                                                     B16_Type p_ARFCN3,

                                                     template (omit) B3_Type p_BW3 // @sic GP-120009 sic@

                                                     ) := // @sic GP-120009 sic@

  { /* @status    APPROVED */

    cs_EARFCN_BWList (p_ARFCN1, p_BW1),

    cs_EARFCN_BWList (p_ARFCN2, p_BW2),

    cs_EARFCN_BWList (p_ARFCN3, p_BW3)

  };
  template (value) RptdEARFCN_BW cs_RptdEARFCNList3 (B16_Type p_ARFCN1,

                                                     template (omit) B3_Type p_BW1, // @sic GP-120009 sic@

                                                     B16_Type p_ARFCN2,

                                                     template (omit) B3_Type p_BW2, // @sic GP-120009 sic@

                                                     B16_Type p_ARFCN3,

                                                     template (omit) B3_Type p_BW3 // @sic GP-120009 sic@

                                                     ) := // @sic GP-120009 sic@

  { /* @status    APPROVED */

    cs_EARFCN_BWList (p_ARFCN1, p_BW1),

    cs_EARFCN_BWList (p_ARFCN2, p_BW2),

    cs_EARFCN_BWList (p_ARFCN3, p_BW3),

    cs_EARFCN_BWEmpty

  };
  template (value) RptdEARFCN_BW cs_RptdEARFCNList2 (B16_Type p_ARFCN1,

                                                     template (omit) B3_Type p_BW1,

                                                     B16_Type p_ARFCN2,

                                                     template (omit) B3_Type p_BW2) := // @sic GP-120009 sic@

  { /* @status    APPROVED */

    cs_EARFCN_BWList (p_ARFCN1, p_BW1),

    cs_EARFCN_BWList (p_ARFCN2, p_BW2),

    cs_EARFCN_BWEmpty

  };


Change 3

	Reason for change
	The 4th instance of SI2quater message needs to be transmitted.

	Summary of change
	The 4th instance of SI2quater message is transmitted.

	Source of change
	GERAN_CommonFunctions.ttcn


Before change:

	  function f_GERAN_SendGSMSysInfo(GERAN_CellId_Type p_CellId) runs on GERAN_PTC

  {

    var GERAN_SystemInformation_Type v_SysInfo := f_GERAN_SysInfo_Get(p_CellId);

    G_L2.send(cas_SysInfo1(p_CellId, v_SysInfo.si1));

    G_L2.send(cas_SysInfo2(p_CellId, v_SysInfo.si2));

    G_L2.send(cas_SysInfo3(p_CellId, v_SysInfo.si3));

    G_L2.send(cas_SysInfo4(p_CellId, v_SysInfo.si4));

    G_L2.send(cas_SysInfo13(p_CellId, '0'B, v_SysInfo.si13));

    G_L2.send(cas_SysInfo2quater(p_CellId, 0, v_SysInfo.si2quater_1));

    if (isvalue(v_SysInfo.si2quater_2)) {

      G_L2.send(cas_SysInfo2quater(p_CellId, 1, v_SysInfo.si2quater_2));

    }

    if (isvalue(v_SysInfo.si2quater_3)) { //@sic R5s120021 sic@

      G_L2.send(cas_SysInfo2quater(p_CellId, 2, v_SysInfo.si2quater_3));

    }

    if (px_GERAN_BandUnderTest ==  GSM_P900 or  px_GERAN_BandUnderTest == GSM_E900 ) {

      G_L2.send(cas_SysInfo2bis(p_CellId, 0, v_SysInfo.si2bis));

    }

    else if ( px_GERAN_BandUnderTest == GSM710) {

      G_L2.send(cas_SysInfo15(p_CellId, v_SysInfo.si15));

    }

    else if ( px_GERAN_BandUnderTest == T_GSM810) {

      v_SysInfo.si15 := valueof(cs_SysInfoType15(cs_SI15_RO('0111'B)));

      G_L2.send(cas_SysInfo15(p_CellId, v_SysInfo.si15));

    }

    f_GERAN_SysInfo_Set(p_CellId, v_SysInfo);

  }// end of f_SendGSMSysInfo


After change:

	  function f_GERAN_SendGSMSysInfo(GERAN_CellId_Type p_CellId) runs on GERAN_PTC

  {

    var GERAN_SystemInformation_Type v_SysInfo := f_GERAN_SysInfo_Get(p_CellId);

    G_L2.send(cas_SysInfo1(p_CellId, v_SysInfo.si1));

    G_L2.send(cas_SysInfo2(p_CellId, v_SysInfo.si2));

    G_L2.send(cas_SysInfo3(p_CellId, v_SysInfo.si3));

    G_L2.send(cas_SysInfo4(p_CellId, v_SysInfo.si4));

    G_L2.send(cas_SysInfo13(p_CellId, '0'B, v_SysInfo.si13));

    G_L2.send(cas_SysInfo2quater(p_CellId, 0, v_SysInfo.si2quater_1));

    if (isvalue(v_SysInfo.si2quater_2)) {

      G_L2.send(cas_SysInfo2quater(p_CellId, 1, v_SysInfo.si2quater_2));

    }

    if (isvalue(v_SysInfo.si2quater_3)) { //@sic R5s120021 sic@

      G_L2.send(cas_SysInfo2quater(p_CellId, 2, v_SysInfo.si2quater_3));

    }

    if (isvalue(v_SysInfo.si2quater_4)) { //@sic R5s120021 sic@

      G_L2.send(cas_SysInfo2quater(p_CellId, 3, v_SysInfo.si2quater_4));

    }
    if (px_GERAN_BandUnderTest ==  GSM_P900 or  px_GERAN_BandUnderTest == GSM_E900 ) {

      G_L2.send(cas_SysInfo2bis(p_CellId, 0, v_SysInfo.si2bis));

    }

    else if ( px_GERAN_BandUnderTest == GSM710) {

      G_L2.send(cas_SysInfo15(p_CellId, v_SysInfo.si15));

    }

    else if ( px_GERAN_BandUnderTest == T_GSM810) {

      v_SysInfo.si15 := valueof(cs_SysInfoType15(cs_SI15_RO('0111'B)));

      G_L2.send(cas_SysInfo15(p_CellId, v_SysInfo.si15));

    }

    f_GERAN_SysInfo_Set(p_CellId, v_SysInfo);

  }// end of f_SendGSMSysInfo


Change 4

	Reason for change
	The list of neighbouring cell frequencies is corrected as per the 3gpp spec 36.508, 6.2.3.1

	Summary of change
	For Band 6, Band 14 and Band 17, 2 neighbouring cell frequencies chould be transmitted and so only f3 and f4 should be dummy frequencies.

	Source of change
	EUTRA_Component.ttcn


Before change:

	  function f_IRAT_ListOfFrequencies () runs on EUTRA_PTC return IRAT_CoOrd_SysInfo_Type

  {

    var template (value) IRAT_CoOrd_SysInfo_Type v_CoOrd_List :=

          cs_CoOrdEUTRA_SysInfo ( { cs_CoOrdEUTRASysInfo ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell1),

                                                       f_ConvertDL_BandwidthToInteger (f_EUTRA_CellInfo_GetDL_ChBandwidth (eutra_Cell1)))   // f1

                                   });

 …                                  

 …                               

    if ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell14) != tsc_DummyFrequency ) {   // f4 is applicable for the band

      v_CoOrd_List := cs_CoOrdEUTRA_SysInfo ( { cs_CoOrdEUTRASysInfo ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell1),

                                                       f_ConvertDL_BandwidthToInteger (f_EUTRA_CellInfo_GetDL_ChBandwidth (eutra_Cell1))),   // f1

                                cs_CoOrdEUTRASysInfo ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell3),

                                                       f_ConvertDL_BandwidthToInteger (f_EUTRA_CellInfo_GetDL_ChBandwidth (eutra_Cell3))),    // f2

                                cs_CoOrdEUTRASysInfo ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell6),

                                                       f_ConvertDL_BandwidthToInteger (f_EUTRA_CellInfo_GetDL_ChBandwidth (eutra_Cell6))),    // f3

                                cs_CoOrdEUTRASysInfo ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell14),

                                                       f_ConvertDL_BandwidthToInteger (f_EUTRA_CellInfo_GetDL_ChBandwidth (eutra_Cell4)))   // f4

                               }

                              ); // Initialise with all frequencies

     } else {

     if ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell6) != tsc_DummyFrequency ) {   // f3 is applicable for the band, but f4 is  NA

      v_CoOrd_List := cs_CoOrdEUTRA_SysInfo ( { cs_CoOrdEUTRASysInfo ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell1),

                                                       f_ConvertDL_BandwidthToInteger (f_EUTRA_CellInfo_GetDL_ChBandwidth (eutra_Cell1))),   // f1

                                cs_CoOrdEUTRASysInfo ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell3),

                                                       f_ConvertDL_BandwidthToInteger (f_EUTRA_CellInfo_GetDL_ChBandwidth (eutra_Cell3))),    // f2

                                cs_CoOrdEUTRASysInfo ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell6),

                                                       f_ConvertDL_BandwidthToInteger (f_EUTRA_CellInfo_GetDL_ChBandwidth (eutra_Cell6)))  // f3

                                             });    //  f4 is NA

         } else {   // f3 is NA

           if ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell13) != tsc_DummyFrequency ) {  // f2 is applicable for the band
        v_CoOrd_List := cs_CoOrdEUTRA_SysInfo ( { cs_CoOrdEUTRASysInfo ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell1),

                                                       f_ConvertDL_BandwidthToInteger (f_EUTRA_CellInfo_GetDL_ChBandwidth (eutra_Cell1))),    // f1

                                                  cs_CoOrdEUTRASysInfo ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell3),

                                                       f_ConvertDL_BandwidthToInteger (f_EUTRA_CellInfo_GetDL_ChBandwidth (eutra_Cell3)))     // f2

                                                  }

                                               );

      }

      }

    }

    return valueof (v_CoOrd_List);

  };


After change:

	  function f_IRAT_ListOfFrequencies () runs on EUTRA_PTC return IRAT_CoOrd_SysInfo_Type

  {

    var template (value) IRAT_CoOrd_SysInfo_Type v_CoOrd_List :=

          cs_CoOrdEUTRA_SysInfo ( { cs_CoOrdEUTRASysInfo ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell1),

                                                       f_ConvertDL_BandwidthToInteger (f_EUTRA_CellInfo_GetDL_ChBandwidth (eutra_Cell1)))   // f1

                                   });          

  …                                 

  …                                 

    if ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell14) != tsc_DummyFrequency ) {   // f4 is applicable for the band

      v_CoOrd_List := cs_CoOrdEUTRA_SysInfo ( { cs_CoOrdEUTRASysInfo ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell1),

                                                       f_ConvertDL_BandwidthToInteger (f_EUTRA_CellInfo_GetDL_ChBandwidth (eutra_Cell1))),   // f1

                                cs_CoOrdEUTRASysInfo ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell3),

                                                       f_ConvertDL_BandwidthToInteger (f_EUTRA_CellInfo_GetDL_ChBandwidth (eutra_Cell3))),    // f2

                                cs_CoOrdEUTRASysInfo ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell6),

                                                       f_ConvertDL_BandwidthToInteger (f_EUTRA_CellInfo_GetDL_ChBandwidth (eutra_Cell6))),    // f3

                                cs_CoOrdEUTRASysInfo ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell14),

                                                       f_ConvertDL_BandwidthToInteger (f_EUTRA_CellInfo_GetDL_ChBandwidth (eutra_Cell4)))   // f4

                               }

                              ); // Initialise with all frequencies

     } else {

     if ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell6) != tsc_DummyFrequency ) {   // f3 is applicable for the band, but f4 is  NA

      v_CoOrd_List := cs_CoOrdEUTRA_SysInfo ( { cs_CoOrdEUTRASysInfo ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell1),

                                                       f_ConvertDL_BandwidthToInteger (f_EUTRA_CellInfo_GetDL_ChBandwidth (eutra_Cell1))),   // f1

                                cs_CoOrdEUTRASysInfo ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell3),

                                                       f_ConvertDL_BandwidthToInteger (f_EUTRA_CellInfo_GetDL_ChBandwidth (eutra_Cell3))),    // f2

                                cs_CoOrdEUTRASysInfo ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell6),

                                                       f_ConvertDL_BandwidthToInteger (f_EUTRA_CellInfo_GetDL_ChBandwidth (eutra_Cell6)))  // f3

                                             });    //  f4 is NA

         } else {   // f3 is NA

           if ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell3) != tsc_DummyFrequency ) {  // f2 is applicable for the band
        v_CoOrd_List := cs_CoOrdEUTRA_SysInfo ( { cs_CoOrdEUTRASysInfo ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell1),

                                                       f_ConvertDL_BandwidthToInteger (f_EUTRA_CellInfo_GetDL_ChBandwidth (eutra_Cell1))),    // f1

                                                  cs_CoOrdEUTRASysInfo ( f_EUTRA_CellInfo_GetEARFCN_DL (eutra_Cell3),

                                                       f_ConvertDL_BandwidthToInteger (f_EUTRA_CellInfo_GetDL_ChBandwidth (eutra_Cell3)))     // f2

                                                  }

                                               );

      }

      }

    }

    return valueof (v_CoOrd_List);

  };
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